
If Mean score acquirable 1 rest. = 50 

 

       “        “            “        2 rest. 

 First x,   sec y 

            s 

 if x > 50 do x x 

 else x y 
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( )
1 1

0 0
2

s

s
x dx x y dxdy+ +∫ ∫ ∫  

 

  2 21 2 2s s s− + +  

  21 2 2s s+ −    1 2s =   
1
1
8
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# 98 is P.    If 0P P< try x : if x P<  

If 0P P< try x : if x P<  then if 50%P <  try y      y + x      

  : if x P<  and if 50%P >  do P      x + P 

    

    if x P>  and 50%x <  try y    x + y            ??? 

       and 50%x >  try x    2x 

 

If 0P P>  do P + P     If x is 

 

 

 

1. If 0P P>  2P0 2P            2P 

2. If 0 ½P P> >     try x.  If x P>  score 2x       21 P−            

       If x P< score 2P         2P
2

 

 x + P      2 22P P+  
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 3. If ½ P>     try x     If  x < P0  try y  score x + y  at 1/8 + 1/4 

              If  x > ½           score   2x    at  (1 – 1/4)  

            If  2P x<    ½P x< <  try y score 

 

      ∴ If  ½P <           x      ,if ½x < ,   y 

                 else    x 

 

                         If .586 .500P> >    x:  P0 x P>  :   x x 

            :  ?  x P<   :  P 
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